Calculus 15018 Friday, February 7, 2014
Midterm Examination 1 Paga 1

13 1.
marks {4 marks) (a) State the Mean Value Theorem precisely.
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10 3.
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8 4,
marks Write out the form of the partial fraction decomposition for the following rational functions

without computing the coefficients:
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12 6.
marks Determine whether the following improper integrals are convergent and compute their

values for the ones that are convergent:
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10 T
marks Use the Comparison Theorem to determine whether the following integrals are convergent

or divergent:
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